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QUESTION 1

Which of the following statements regarding importing streaming data from InfoSphere Streams into Hadoop is TRUE? 

A. InfoSphere Streams can only write to HDFS not read from HDFS 

B. InfoSphere Streams can only write directly to BigInsights, not other Hadoop distributions like Hortonworks or
Cloudera 

C. A Streams developer needs to account for the fact that BigInsights may not be able to absorb the incoming streams
at the rate InfoSphere Streams is sending them 

D. Adding a Big Data toolkit operator (for writing to Hadoop) to an InfoSphere Streams Processing Language (SPL)
application requires that the SPL application be recompiled 

Correct Answer: B 

Reference: https://books.google.com.pk/books?
id=6BmLCwAAQBAJandpg=PA15andlpg=PA15anddq=InfoSphere+Streams+can+only+write+directly+to
+BigInsights,+not+other+Hadoop+distributions+like+Hortonworks+or +Clouderaandsource=blandots=bAX5_-opwFandsi
g=ACfU3U2rhwLKLEes37evjJfMzxYMLP7NxQandhl=enandsa=Xandved=2ahUKEwi6gY2soffoAhWIzaQ
KHREADDkQ6AEwAHoECBcQJg#v=onepageandq=InfoSphere%20Streams%20can%20only% 20write%
20directly%20to%20BigInsights%2C%20not%20other%20Hadoop%20distributions%20like%
20Hortonworks%20or%20Clouderaandf=false 

 

QUESTION 2

PCI compliance requirements allow the use of real customer data during testing and development only when: 

A. The data is only processed in memory 

B. Customer data is never allowed in testing or development 

C. The data is never stored longer than 24 hours in the test system 

D. The data is only stored in volatile storage that expires on power loss 

Correct Answer: D 

 

QUESTION 3

Which of the following statements regarding Big SQL is TRUE? 

A. Big SQL doesn\\'t support stored procedures 

B. Big SQL can be deployed on a subset of data nodes in the BigInsights cluster 

C. Big SQL provides a SQL-on-Hadoop environment based on map reduce 

D. Only tables created or loaded via Big SQL can be accessed via Big SQL 
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Correct Answer: B 

Reference: https://books.google.com.pk/books?id=t13nCQAAQBAJandpg=PA3andlpg=PA3anddq=Big+SQL+can
+be+deployed+on+a+subset+of+data+nodes+in+the+BigInsights
+clusterandsource=blandots=RBbad0Xkelandsig=pMgmgDNLGUrkvOSXoVBj64xTMgkandhl=enandsa=Xandredir_esc
=y#v=onepageandq=Big%20SQL%20can%20be%20deployed%20on%20a%20subset%20of%20data%
20nodes%20in%20the% 20BigInsights%20clusterandf=false 

 

QUESTION 4

Which of the following is TRUE about storing an Apache Spark object in serialized form? 

A. It is advised to use Java serialization over Kryo serialization 

B. Storing the object in serialized from will lead to faster access times 

C. Storing the object in serialized from will lead to slower access times 

D. All of the above 

Correct Answer: B 

Reference: https://spark.apache.org/docs/latest/rdd-programming-guide.html 

 

QUESTION 5

Use of Bulk Load in HBase for loading large volume of data will result in which of the following? 

A. It will use less CPU but will use more network resource 

B. It will use less network resource but more CPU 

C. It will behave same way as using HBase API for loading large volume of data 

D. None of the above 

Correct Answer: C 
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